
TEOREMA. 
  Para todo x, y, z R 

 

i) x + y   R 

     xy   R 

 

ii) x + (y + z) = (x + y) +z 

       x (y z) = (x y) z 

 

iii) x + y = y + x  

    x y = y x  

 

iv) x + 0 =  x  

    x  1 = x  

 

v)   -x   R tal que x + (-x) = 0 
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x
   R tal que 1

x x = 1, si 

0x   
 

v) x(y+z)=xy+xz 

 



 

 si x + z = y + z, entonces x = y 

si x  z = y  z  y  z   0, entonces 

x = y 

 

 

TEOREMA. 
  Para todo x, y R 

i) x  0 = 0 

ii) (-x)(y) = -(xy) 

iii) (-x)(-y) = xy 

 

TEOREMA. 
  Si  x, y R entonces se 

verifica una y sólo una de las 

siguientes proposiciones: 

 

i) x < y 

ii) x = y 

iii) y < x 

 



TEOREMA. 
  Para todo x, y, z R: 

 

i) x < y           x + z < y+z 

 

ii)  x < y    y    z > 0           xz < yz 

x < y    y    z < 0           xz > yz 

 

iii) x < y    y    y < z          x < z 

 

 

 

 

 

 
 


